A £ 0l & AF & S

20243 = =0k LB

A wF0ots= Xt

A WF0ts=X1
M DIcHE Hd&otke EXZW=

Al A

el el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MESSV =t AN 56,977,913 52,502,807 4,475,106
= 19,944,127
[ 1,446,538
Il 2,598,821
< 12,661,961
= 20,326,466
OIcHE d=ote EXu=s 3,110,975 3,092,464 18,511
[ 71,000
= 214,470
= 2,825,506
eIt ek 3,110,975 3,092,464 18,511
= 71,000
< 214,470
T 2,825,505
s E 2SSty 28 29 HEX 207,000 207,000 0
308 XtXIEMSO0IE 207,000 207,000
08 w=J| 202X 207,000 207,000
O stolE git=st X 207,000
DN RS S DN 365,640 331,140 34,500
201 fer23| 12,000 2,500 9,500
01 AtR2t2|HI 12,000 2,500 9,500
O gy 28=8 72 € fE=E 2,500
O U=SSAHHE 2/ 29 4,500
O us 3z B3 29 5,000
202 04l 3,640 3,640
01 2LHoIH 3,640 3,640
O oNdgE S0
70,0002 +5E * 122 %70/100 2,940
O =JHHAH=EE 28t EF 0|
20,0002 *5E %102/ +70/100 700
307 212+01& 360,000 325,000 25,000
05 2ItRIE = 350,000 325,000 25,000
O 252 usSSAAMEH 29 350,000
QITHAE R (EX) 81,400 81,400 0
= 24,500
[Ea 56,900
308 AXIHSO0IA 81,400 81,400 0
S 24,500
o 56,900
08 WEJI20UStEx 81,400 81,400 0
O UlMds &85 & |4 36,000
== 10,500
o 24,500
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2A:

WEOISS A1

2 OIHE dots E#xu=s
el QI (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O JI=8 0 XEAY 46,400
= 14,000
= 32,400
oA WFEEL 450,000 450,000
308 AtXIEMSOIE 450,000 450,000
08 WEJI20UStEx 450,000 450,000
O #&H NS+ =8 450,000
1SSt s XE 430,758 430,758 0
308 XXM SOIE 430,758 430,758
10 A2 7 UFHSEH HIHES 430,758 430,758
O 1nsstn 2au=s X 430,758
TS st w=EH| X2 A 1,970 1,970 0
= 1,970
101 e124d| 1,893 1,848 45
[ 1,893
04 JIZtNZ22 NS 2+ 1,893 1,848 45
O =51 st w=H|l XAGL(1O0 018 1,893
=S 1,893
201 Zet=E] 7 122 245
= 7
01 AtR2t2lt] 7 122 A45
O =281 st w=Hl NAER AHR2el] w
S w7
Hetd &t xt= tHEOIAE XA 4,000 4,000 0
< 2,000
[Ea 2,000
301 2eEN= 4,000 4,000 0
& 2,000
= 2,000
o4 gstsstis 4,000 4,000 0
O Ustdl stit= WEO0IAH XI& 4,000
= 2,000
[Ea 2,000
SEAL=HSLNE (5ERE) 162,000 127,000 35,000
[ 71,000
= 21,300
o 69,700
307 el2tol & 162,000 127,000 35,000
= 71,000
& 21,300
= 69,700
02 2B YA E X 78,000 70,000 8,000
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2A:

WEOISS A1

2 OIHE dots E#xu=s
el el EER=E)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
01 AL =S F=HI 8,300 0 8,300
o=gJl 6,800
Ok ES 1,500
QIS e X2 A 1,341,900 1,287,910 53,990
== 139,500
o 1,202,400
306 EH= 593,940 539,950 53,990
01 &= 593,940 539,950 53,990
O 2Fz AWSENY =4 593,940
308 XXM SOIA 747,960 747,960 0
= 139,500
= 608,460
18 SIS0t HAS A 747,960 747,960 0
O KNGS SdAY 465,000
= 139,500
o 325,500
O gt=stl S=01 ZA X 282,960
sERSE-s ZUIRE 26,400 0 26,400
& 13,200
= 13,200
308 XXM SOIA 26,400 0 26,400
= 13,200
o 13,200
08 wEJ| 20 Het 2= 26,400 0 26,400
O sExs2dst gulkd 26,400
= 13,200
o 13,200
e - OtS=X SEAHIAXE 53,385,942 48,974,323 4,411,619
= 19,944,127
[ 1,375,538
) 2,598,821
< 12,393,691
s 17,073,765
&SN 5,999,637 5,438,629 561,008
= 685,800
Jl 1,868,458
= 708,678
Ea 2,736,701
ISP/ = ONE 5,471 6,146 AB75
201 er=23y| 3,119 3,004 25
01 AtR2t2|HI 3,119 3,094 25
O 4318 & $E8ES U=s 1,442
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A WF0ts=X1
X g - 0ls=X SEAHIAXR

=l HdIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 0ld Ji=E &2 &9 M
50,0008 x75+23] 700
O g It= g% 82= X 9r7
202 04| 2,352 3,052 AT700
01 =LHo1H| 2,352 3,062 ATO0
O of&iEY EI0
70,0003 x4 «12& x70/100 2,352
2FT IS usE 29 141,926 73,220 68,706
101 @124H| 12,206 1,600 10,606
M ORINZZE2NSE S 12,206 1,600 10,606
O =23t FEMAH (H=IIAE)
172,2003 52 +24 1,722
O IIEE3usE 28 10,484
201 et 3| 33,300 34,500 1,200
01 At22t2l] 10,800 12,000 21,200
O ItE2etusE 29
12,000,000 *90/100 10,800
2 35234l 20,700 20,700 0
O IE=2usdE 28 20,700
03 A= SHI 1,800 1,800 0
O IIE=2usE sts2Hsl 1,800
206 M=l 6,300 7,000 AT700
01 MHZH| 6,300 7,000 AT700
O JIEEsu=sd T278 24 M=
7,000,000 90/100 6,300
301 EtE NS 15,120 15,120
14 IIEt2 83 15,120 15,120
O JIEEsusd T2 08 28 JAeE
60,0002 x212/* 123 15,120
401 Al HIZ S OHbI 70,000 10,000 60,000
01 A28l 70,000 10,000 60,000
O IIERUSH A= d+SA 70,000
405 KHaHE SH] 5,000 5,000
01 Tt =S F=H 5,000 5,000
O JIEEstusd Mas 7Y 5,000
gz A2 29 81,151 81,367 A216
101 @124H| 59,751 58,967 784
M OIRIMZZ2NSE S 59,751 58,967 784
O M2 28 (HLd22=01E) 40,202
-l 28 78,8802 x2EH*187 29,502
-ReRLY 78,8802 x2S x4 2L+ 5,680
-AXt=E 78,8803 x0 L x2H 1,420
-“2Es 200,000 x2H+0Z 3,600
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2A:

X XH -
o=

WEOISS A1
old - OtS=X SEAHIAKIE

=l HdIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 23,165
s 35,147

JIEHH 2SRNH(EX) 739,270 477,880 261,390
Jl 369,635
< 110,890
= 258,745

307 lztol & 739,270 477,880 261,390
Il 369,635
== 110,890
o 258,745

11 AMRISXAEEES 739,270 477,880 261,390
O Jt=4dE 2SR (ExX) 739,270
Jl 369,635
=S 110,890
s 258,745

O2aIIEESHESAG(EX) 378,179 316,049 62,130
7l 189,090
= 56,726
o 132,363

307 @I2t01 & 378,179 316,049 62,130
Il 189,090
= 56,726
Ea 132,363

1 AMEISXAIEEXS 378,179 316,049 62,130
O LR2USMHUIAXIRZ(EX) 140,189
Jl 70,095
= 21,028
= 49,066
O Z2E0|2UNSHAMHIARA (LX) 68,200
) 34,100
= 10,230
= 23,870
O UESIERNEANLERA(EX) 81,180
) 40,590
= 12,177
= 28,413
O oIsdo=EsZ R (8X) 73,110
Jl 36,555
= 10,966
= 25,589
O ZE0I2NSELSANA(EE) 15,500
) 7,750
S 2,325
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2A:
PSER
o e

el

DSOS
04 - OIS=X SBMHIAXIR
SPERESE]

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

5,425

JESHIE SAHAF 2] € =4

pal
o
HL
o

M

94,900
16,470
78,430

113,782

A18,882

307 212t01&

A H

94,900
16,470
78,430

113,782

18,882

11 AR ZXAIE 2=

O JI5dE SAHAL bl & =& X

[0

M H

94,900
94,900
16,470
78,430

113,782

18,882

M

125,000
43,750
81,250

121,300

3,700

307 212+01&

MO

125,000
43,750
81,250

121,300

3,700

11 ARRIZXAIE 2

A H

125,000
125,000
43,750
81,250

121,300

3,700

UMY

16,800
5,040
11,760

16,000

800

307 212+01™

Mo

16,800
5,040
11,760

16,000

800

11 ARRISXIAIEE
O UE3atE DELsS0l At

M H

16,800
16,800

5,040
11,760

16,000

800

M

11,000
4,400
6,600

12,700

21,700

307 212+01™

UMY

11,000
4,400
6,600

12,700

21,700

11 ARRIS XA E X
&

O Z&0I2Ikt A

M

11,000
11,000
4,400
6,600

12,700

21,700

in

12,000
4,800

12,000
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2A:

WEOISS A1

M 0d - Ols=A SEMEIAXRA
=l HdIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 7,200
307 gl2tol & 12,000 12,000 0
=S 4,800
s 7,200
11 ARRIS XA E X 12,000 12,000 0
O Z2&0I2IX}F st X2 10,000
< 4,000
Ea 6,000
O Z&0I2X+ StIXI2 2,000
= 800
o 1,200
Ol=0d =M= N&A 9,000 9,000 0
307 @120l & 9,000 9,000
1 AMISXAIEEX 9,000 9,000
O 0IF0d =H=s8 A 9,000
ZE012A S =HFASHIE NFAE 3,000 6,000 23,000
== 900
= 2,100
307 lztol & 3,000 0 3,000
= 900
= 2,100
11 AMEISXAIEEXS 3,000 0 3,000
O Z201UXN & =HFHSHIE XE 3,000
= 900
[Ea 2,100
HAERE ots2=H X 3,600 3,600 0
= 1,800
= 720
Ea 1,080
301 EtE2 NS 3,600 3,600 0
= 1,800
= 720
= 1,080
01 Al EE A S (2 DEXMR) 3,600 3,600 0
O HaHERR ots2=H| X 3,600
= 1,800
= 720
s 1,080
OSSR (EX) 1,244,787 977,143 267,644
= 684,000
== 17,257
= 443,530
307 lztol & 1,244,787 977,143 267,644
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2A:

WEOISS A1

HE: 04 - OIS =X SEMUIAKS
=l HdIEXE (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 54
= 54
AZHNGH A Ql2H| X (EX) 3,828 2,857 971
I 2,680
= 574
= 574
301 Yt 3,828 2,857 971
p] 2,680
< 574
= 574
NEEEERPEIER EESTE)) 3,828 2,857 971
O SZALIGHA 2A2H] X 3,828
p] 2,680
< 574
= 574
HAS RIS XU YSHIS X (2X) 1,581,658 1,499,998 81,660
p] 1,199,998
= 150,000
= 231,660
301 LB HB 1,581,658 1,499,998 81,660
b 1,199,998
< 150,000
= 231,660
01 AlBI 2R E 2512 (2N2EMHE) 1,581,658 1,499,998 81,660
O MAS BI220HE 4 ¥sHl S X9 1,581,658
p] 1,199,998
= 150,000
= 231,660
HAE BED RNYX DAY (RX) 15,048 15,948 0
p] 12,758
& 1,595
= 1,5%
301 LR HD 15,948 15,948 0
p] 12,758
= 1,5%
z 1,5%
NREEEEPSEIEREESTE)) 15,048 15,948 0
O FAH 322 YKL 15,948
p] 12,758
< 1,5%
= 1,5%
SIRRIIEZ AL SYHI(2X) 434,218 417,308 16,910
= 65,133
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2A:
PSER
o e

el

DSOS
04 - OIS=X SBMHIAXIR
SPERESE]

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

369,085

307 212+01&

M

434,218
65,133
369,085

417,308

16,910

10 AlRIEXANEEE2Y
d sl

O BX=XIAIE

M

434,218
434,218

65,133
369,085

417,308

16,910

M H

186,000
55,800
130,200

186,000

UMY

186,000
55,800
130,200

186,000

M

186,000
186,000

55,800
130,200

186,000

A H

9,720
2,916
6,804

10,440

AT20

M

9,720
2,916
6,804

9,720

EUNGE

9,720
9,720
2,916
6,804

9,720

S

UMY

12,000
6,000
2,400
3,600

12,000

307 212+01™

S

M

12,000
6,000
2,400
3,600

12,000

S

A

12,000
12,000
6,000
2,400
3,600

12,000

H

20,000
3,000

20,000
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2A:

WEOISS A1

B2 014 - OIS =X SEAMHIAXE
=l HdIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 17,000
01 YerewE 20,000 20,000 0
= 3,000
2 17,000
REEEEREIEREESTE]) 20,000 20,000 0
O SN2XAIE EAT HEHES N 20,000
= 3,000
2 17,000
SIRLRIIRSIAE BRI ISUs BE J(EX) 6,000 6,000 0
= 1,800
2 4,200
307 S12+01® 6.000 6.000 0
= 1,800
2 4,200
TEESIETEES 6,000 6.000 0
O BRRIMESTAE IHF)IsYs BT
X2 6,000
= 1,800
2 4,200
ARRIIE=NAIL M ZEHI(2X) 1,700 1,700 0
= 510
2 1,190
307 S12H01 1,700 1,700 0
= 510
2 1,190
TS IETEES 1,700 1,700 0
O B=RIIESTAL MO 2ZH 1,700
= 510
2 1,190
SR IIS=RIAIL Ol0ISEMHIA NA(2X) 9,364 37,43 728,066
| 6,555
= 1,967
2 842
307 S12+01 9,364 37,430 228,066
| 6.555
= 1,967
2 842
TEESIETEES 9,364 37,43 728,066
O BRRIIESTAIE 00l SSAHIAXIS 9,364
| 6.555
= 1,967
2 842
BRRIIESTAL JISBY(RE) 49,550 29,800 19,750
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2A:

E M

X=]

WEOISS A1
old - OtS=X SEAHIAKIE

ISR

S - B

- SHRABA) - HRAY - BES

ol vy

HMEE
Ofl &k2h

S

M

24,775
17,342
7,433

402 2I2FXH=201&

S

M

49,550
24,775
17,342

7,433

29,800

19,750

SE(0IXMTHE)
SNAE JIsEH

S

M H

49,550
49,550
24,775
17,342

7,433

29,800

19,750

ATOE 04 KO0LEEH| Xg A (EX)

M

13,500
2,700
10,800

15,000

21,500

M

13,500
2,700
10,800

15,000

1,500

M H

13,500

13,500
2,700
10,800

15,000

21,500

EUNGE

1,800
540
1,260

M

1,800
540
1,260

1,800

01 AtR2telbl
O OtSHEAHEX A

[0
02
o
0x
ton
=
114

A H

1,800
1,800

540
1,260

1,800

CHAHADHY 25| X3

400,800

400,800

301 Bt

400,800

400,800

[=]
02 MR 2HHSFS(HAAS, XLHE)

O TAHAIHE =8|

400,800
400,800

400,800

X
OLOI=SE20l SotdE oty =5+

M

7,200
2,160
5,040

3,000

4,200

307 212t01 &

M H

7,200
2,160
5,040

3,000

4,200
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2A:

WEOISS A1

M 0d - Ols=A SEMEIAXRA
=l HdIEXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 7,200 3,000 4,200
O E0tdg ot =8¢ 7,200
= 2,160
o 5,040
100015 =AY 22XZ0] XA 5,960 0 5,960
s 1,788
s 4,172
307 21201 & 5,960 0 5,960
< 1,788
[Ea 4,172
11 AMEISXAEEES 5,960 0 5,960
O 120t F=HHE Y2 XZ0] XEA 5,960
S 1,788
= 4,172
LdEHES St A 10,000 10,000
307 el2to| & 10,000 10,000
02 2IZHBYAIHE £ 10,000 10,000
O 2dES Sotatdt A 10,000
JEEHE AL SX+= XA 33,360 0 33,360
< 10,008
[Ea 23,352
301 2eEN= 33,360 0 33,360
& 10,008
= 23,352
02 AR 2EH LGS (FHAAHS, NLWE) 33,360 0 33,360
O JtSHE SALL SX=E 33,360
= 10,008
o 23,352
SSSE0LIsH SAL SX=g A& 2,880 0 2,880
s 864
s 2,016
301 EtE NS 2,880 0 2,880
& 864
Ea 2,016
02 A2 EH LGS (HAAS, NLWE) 2,880 0 2,880
O SSF0Ll=sH SAHL SX=g 2,880
S 864
= 2,016
Ols, dAad etz Al FA 12,552,676 11,478,755 1,073,921
= 3,785,907
= 1,191,834
Il 628,314
= 2,433,274
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SA: DROISEIL
M 0d - Ols=A SEMEIAXRA
T Ol HAE FBIEAl 2T (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 4,513,347
OlSSAl gRFA 27,052 20,306 6,746
201 fet=23y| 11,900 14,100 2,200
01 AtR2tc|HI 11,900 12,600 AT700
O 2Az9RE FH4T (21F)
70,0002 x20H *43] 5,600
O Bt U 222 R (A, OlSH2l F2
S) 7,000,000& *90/100 6,300
202 04l 15,182 6.206 8,946
01 K01t 16,152 6.206 8.946
O OlsHAEE BHOI
70,0002 x 142 %123 %70/100 8,232
O S24 EZUHI(MAIEE)
80,0003 *7& * 12 6.720
O OIS=XIWAHZF0AIZY) E+=1F 0H| 200
oelole =X etote 32,000 32,000 0
307 el2to| & 32,000 32,000
02 2IZHBYAIAE & 32,000 32,000
O oelolg =Ml et0te 32,000
OIS - EA4YE oAl &4 87,749 124,300 36,551
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